Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

1.8

1.6

1.4

1.2

=

L
o

IWT-V-V-V R —V-V-V-V-V-V-V-V_\

Pull of x

Ratio

1.6

1.4

1.2

LI L0 L L L

1.8F---

Sum ofjtrack P, (Ge\})O

Pull of X for merged vertices

Ratio

=

18

1.6

1.4

-

.........

1.055—-
3
0.95
2
1.8 ............
y I SRSTATE TR TIRRERTE 4 § R TR

1.4

1.2

[iny

0.8

0.6

.........................

1.2

1.1

=N

B

Ratio

Pull of z

Ratio

"'EE@E@'WB'T%%------

|

K

1.8

1.6

14

1.2

L IS I TLOUIL LIS I I L

Pull of y tor merged vertices

Ratio

Pull of z for merged vertices

Ratio

10 Sum oftralc(1)<p (GeV)
T



	Contents
	Page 1


